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     n-channel JFET - GaAs
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     n-channel MESFET - GaAs
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        n-channel MESFET - silicon
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     (a)  Saturation occurs when 
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     If velocity saturation did not occur, then from 
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     (b) If velocity saturation occurs, then the 
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     The reverse-bias current is dominated by the 

     generation current.  We have
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     The depletion region volume at the drain is
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     (a) The ideal transconductance for 
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     Considering the capacitance charging time, 

     we have
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     and the capacitance charging time, we find
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(a) For constant mobility
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